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41 450   -  41 707  -  41 260  -  41 801  -  41 398  -  41 660  -  41 008  -  41 970  

41 000 41 100 41 200 41 300 41 400 41 500 41 600 41 700 41 800 41 900 42 000

1

Place correctement les nombres suivants sur la bande numérique.
41 450   -  41 707  -  41 260  -  41 801  -  41 398  -  41 660  -  41 008  -  41 970  

41 000 41 100 41 200 41 300 41 400 41 500 41 600 41 700 41 800 41 900 42 000

1

Place correctement les nombres suivants sur la bande numérique.
41 450   -  41 707  -  41 260  -  41 801  -  41 398  -  41 660  -  41 008  -  41 970  

41 000 41 100 41 200 41 300 41 400 41 500 41 600 41 700 41 800 41 900 42 000

1

Place correctement les nombres suivants sur la bande numérique.
41 450   -  41 707  -  41 260  -  41 801  -  41 398  -  41 660  -  41 008  -  41 970  

41 000 41 100 41 200 41 300 41 400 41 500 41 600 41 700 41 800 41 900 42 000

1

Place correctement les nombres suivants sur la bande numérique.
41 450   -  41 707  -  41 260  -  41 801  -  41 398  -  41 660  -  41 008  -  41 970  

41 000 41 100 41 200 41 300 41 400 41 500 41 600 41 700 41 800 41 900 42 000

1

Place correctement les nombres suivants sur la bande numérique.
41 450   -  41 707  -  41 260  -  41 801  -  41 398  -  41 660  -  41 008  -  41 970  

41 000 41 100 41 200 41 300 41 400 41 500 41 600 41 700 41 800 41 900 42 000

1


